[3.1]
dx/dt = (r —ay)x (3.1a)
dy/dt = (bx—c)y (3.1b)
(Xo,Y0) ;(Xo,y0>0)
dx/dt =(r —ay,)X, (3.1a)
dy/dt=(bx,-c)y, (3.1b)
Xo,Yo>0 xo=c/b, yo=r/a
(n1,n2)=(X-Xo,y-Yo) (X,¥)=(Xo+n1, yo+ny) (3.1a)
d(Xo + nl) ={r - a(Yo + nz)} (Xo + nl)
dn /dt =rx,+rn —a(y, +n,)X, —an(y, +n,)
dn, /dt = —ax,n, —an,n,
(3.1b)
d(Yo + nz) ={b(X0 + nl) _C}(YO + nz)
dnz /dt = b(xo + ni)(yo + nz) _C(yo + nz)
dn, / dt =by,n, + nn,

N1, N2

dn,/dt=0-n —ax,-n,
dn,/dt=by,-n,+0-n,

M:[O —%j’n:(r&j dn/dt=Mn
by, O n,

A 22 —(0+0)2+{0-0—(—ax, -by,)}=0

A =\-bx,-ay, =+J-cr

A (2.10)  (2.12) A A=atpl-1
A=0++or -4/-1
T =2z1f] T=2z/4rc
[3.2]
§ 3.6
K
dx/dt = rx—axy/(1+ hx) (3.3a)

dy/dt = bxy/(1+ hx) —cy (3.3b)
V(x,y)



dV(x,y)/dt=0V (X, y)/ox+V (X, Yy)/oy

={(b—ch)—c/x}-dx/dt+{a— br }-dy/dt

(b—ch)y
(3.3)
2
AV (x.y)/dt = hr{(b—ch)x—c}
(b—ch)(1+ hx)

r,h,b-ch>0 dv/idt 0
[3.3]
(3.3)

dx/dt = rx(1-/K)—axy/(1+ hx) (3.3a)

dy/dt = bxy/(1+ hx) —cy (3.3b)

b-ch>0

1) (X,y)= (X0,Y0) ;(X0,y0>0)

X (1= %o / K) — @, Yo /(1+ hxy)
bx, Y, /(1+ hx,) —cy,
yoz 0 Xo xo=c/(b-ch)
Xo% 0 Yo yo=(r/a)(1- xo/K)(1+h Xo)

2) 3.1
(n1,n2)=(X-Xo,Yy-Y0) (X,¥)=(Xo+n1, yo+nz) 3.3)
d(x, +n)=--
dn /dt=---
(3.1b)

d(yo"'nz):"'
dn, /dt =

N1, N2

dn, /dt =
dn, /dt =

n= (nlj dn/dt=Mn (x,y)=(x0,yo)

o(dx/ dt)/ax  a(dx/ dt)/ dy
o(dy/dt)/ax  a(dy/ dt)/ oy

A3) A



OX

e _(a(dx/dt) .\ 6(dy/dt)] 1e {6(dx/dt) O(dy/dt) | o(dx/dt) 6(dy/dt)} 0

dx/dt = (_ r/ Kl)x[(x_ Xo)"‘ a(y_ Yo )]
dy/dt = (_ rp/ Kz)y[b(x_ Xo)"'(y_ YO)]
V(x.y)

av /g =Y I, oV dy

={(2/a)(x— %)) + 2(y - yo)}~%+{(2/b)(y— Yo) + 2(X— X, )}

2.1)

oy

oy

-2.13 A

OX oy OX
g rhx,(K —1/h-2x,) 4%
K(L+ hx,) 1+ hx, )?
A A=a+ p-1
r,h,xo,K>0 a (K-1/h-2x,)
%, >(K-2Yh)/2  a<0
%, <(K-h)/2  a>0
(4) dx/dt=0 y=(r/a)l— x/K)@@+ hx)
_ hr 2 K
T
dy/dt=0 x=c/(b-hc)
dx/dt=0
(3)
dx/dt=0
[3.3]
(2.1)
(Xo,Yyo0) (2.1)

2
X > X,
)
(Xo,Yyo0) (XO
0
..(2.13)
.(2.1'D)

rhx,(K —1/h-2x,)
a =
K(1+ hx,)

X =(K-1/h)/ 2

X, <(K—-1/h)/2

J _ ((Kl —aK,)/(1- ab)j

(K, —bK,)/(1-ab)

dy
dt



AV 1 dt = (2/ a)(x— ;) +aly— V) (‘rxj (x— %) +a(y—Yo)}

+(2/b){(y - o) +b(X— %)} ( jb(x %)+ (Y= Yo)}

2V fh(x— ) + (Y= Vo)

rlx _ _ 2
=—{aKl{(x %) +aly - Yo)} Bk,

a,b,r,K,x,y>0 dv/idt 0 (X,y)= (Xo,yo)



